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— install.packages(“kernlab”)
— library(kernlab)
— data(iris)
— head(iris)
— x =as.matrix(iris[,1:4]) # 1~45| B £ THH
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e head(iris)

> head(iris)

Sepal.lLength Sepal.Width Petal.Length Petal.Width Species
1 2.1 3.5 1.4 0.2 setosa
2 4.5 3.0 1. 0.2 setosa
3 4.7 3.2 1.3 0.2 setosa
4 4.6 3.1 1.5 0.2 setosa
5 2.0 3.6 1.4 0.2 setosa
4] 5.4 3.9 1.7 0.4 setosa
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o H—RILEAEL  rbfdot(H 9T, TI4ILR).

polydot(Z IE =

)

e vanilladot(#£2)

e tanhdot(2> Tk

e aplacedot(T7SL7 V)
* besseldot(\wtz)L)

* anovadot(ANOVA RBF).
e splinedot(RTZ4)
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— iris.kpcl =
kpca(x,kernel="rbfdot”,features=2,kpar=list(sigma
=0.1))

— summary (iris.kpc1))

— plot(pcv(iris.kpcl),col=as.integer(iris[,5]))

= R Console =N EER >
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>
> iris.kpcl<-kpca(x, kernel="rbfdot", features=2,kpar=list(sigma=0.1))

IR R Graphics: Device 2 (ACT...| = | B [s5

pev(iris.kpc1)[,2]

pev(iris.kpc1)[,1]
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— plotcp(resultl)

R R Graphics: Device 2 (ACTIVE) = | (=]
Size of tree

g % Min+1SE
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r 1T 1 1 1 1 11 11T 1T 71T 1T 1T 1T 1T 1T 1T T T1
Inf  0.11 0.027 0.0082 0.0055 0.0038 0.0025 0.001
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